Given the function  $g(x) = 3x^2 - 5$ 

Find the Range for this given domain: x = -2, 1, 2, 5

$$g(-z) = 3(-z)^{2} - 5$$
  

$$3(4) - 5 = 12 - 5 = 7$$
  

$$g(z) = 3(1)^{2} - 5 = 3 - 5 = -2$$
  

$$g(z) = 3(z)^{2} - 5$$
  

$$g(5) = 3(-5)^{2} - 5 = 7$$
  

$$g(5) = 3(-5)^{2} - 5 = 75 - 5 = 70$$
  
Range  $\{-2, 7, 70\}$ 

Use these functions:  

$$f(x) = 5x - 4 \qquad g(x) = 2x^{2} - x \qquad h(x) = \frac{3x + 3}{2x - 2}$$
1. Find  $2f(-4) + 7g(3)$   
 $f(-4) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-4) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-4) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-2) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-2) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-3) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-4) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-4) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-4) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-4) = 5(-4) - 4 \qquad 2(3)^{2} - 3$   
 $f(-4) = 5(-4) - 4 \qquad 2(3)^{2} - 3 \qquad 2(3)^{2} - 3$   
 $f(-4) = 5(-4) - 4 \qquad 2(3)^{2} - 3 \qquad 2(3)^{2}$ 

Use these functions:

$$f(x) = 5x - 4 \qquad g$$

 $g(x) = 2x^2 - x$   $h(x) = \frac{3x+3}{2x-2}$ 

1. Find 2f(-4) + 7g(3)

2. Find h(2x - 5). Simplify if possible.

$$\frac{3(2x-5)+3}{2(2x-5)-2} = \frac{6x-12}{4x-12} = \frac{6x-12}{4x-12} = \frac{3x-6}{2x-6}$$

Equations for Lines:

- Slope-Intercept Form y = mx + b
- Point-Slope Form  $y y_1 = m(x x_1)$
- Standard Form Ax + By = C



Write the equation of the line that passes through this pair of points in Slope-Intercept Form:



Because this line passes through the origin it has a special name:

**Direct Variation** 



Write the equation of the line that passes through these two points: (4,3)&(-6,3)

7=3

Write the equation of the line that passes through these two points:

(5,-8)&(5,-1)  $\bigvee = 5$ 





Write the equation of the line that passes through this pair of points:

(3, 10) and (-4, 10)

Y=10

Write the equation of the line that passes through this pair of points:

(2, -7) and (2, 8)

χ=ζ